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[1] Find the determinant of the matrix
01111
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= 2246 = -16-6 = -96
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[2] Find the inverse to the matrix
1 3 2
A=|2 2 3
011
— -5
-2 | 1
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[3] Using Cramer’s rule, solve for x in the system of equations
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[4] Find a system of eigenvalues and eigenvectors for the matrix A, and find a formula for A™, where
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[5] Letf(n) be the determinant of the n x n matrix in the sequence

1 -1 0 0 O
i _q 1 -1 0 ;_i_(l)g 2 1 -1 0 0
[] [1] [2 1} 2 1 -1 g % 9 o 0 2 1 -1 0
0 2 1 o 0 2 1 0 o 2 1 -1
O 0 o0 2 1
Find a recurrence relation for f(n). Express f(n) using a matrix power. Find a formula for f(n)
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